(303) 424-9037

INDUSTRIAL
BRAKE RELINERS

BRAKE PADS (| BRAKE SHOES / CALIPERS / ROTORS / DRUMS / SEALS /| BEARINGS /

DODGE SPRINTER 2500

WHEEL CYLINDERS / MASTER CYLINDERS

Year(s) |Front Pads Front Hardware | Front Caliper Rear Pads |Rear Rotor| Hardware Rear Caliper
Rotor Kit Kit
Axle# S488213 OR Axle# L874988 OrR| Bosch Caliper| Bosch Caliper use
Y422059 Bosch Caliper X34860 use L 141.35568
Use 120.35072 L 141.35126 use CFD-928 |Use 120.35045| 117.35028 R 141.35567
2002-2005 CFD-950 Axle# $488214 or 117.35035 R 141.35125 ATE Caliper | Axie#18749890or | ATE Caliper ATE Caliper us
422060 use CFD-1006 X34861 use L 141.35572
Use 120.35073 Use 120.35073] 11735035 R 141.35571
Bosch Caliper| Bosch Caliper use
2006 Bosch Caliper use L 141.35568
L 141.35126 use CFD-928 117.35028 R 141.35567
276mm Front i
Rotor 272mm Rear CFD-950 120.35073 11735035 R 141.35125 ATE Caliper 12035070 ATE Caliper ATE Caliper us
Rotor use CFD-1006 use L 141.35572
117.35035 R 141.35571
Wabco Wabco Caliper use Bosch Caliper| Bosch Caliper use
2006 Caliper use L 141.35118 use L 141.35568
285mm Front ) 117.35039 R 141.35117 ) 117.35028 R 141.35567
Rotor 272mm Rear CFD-949 120.35074 Bosch Caliper Bosch Caliper us CFD-928 120.35070 ATE Caliper ATE Caliper us
Rotor use L 141.35120 use L 141.35572
117.35036 R 141.35119 117.35035 R 141.35571
L 141.35162 L 141.35598
2007-2008 CFD-1316 120.35106 117.85001 R 14135161 CFD-1317 120.35107 117.35045 R 14135597
120.35072 120.35073 120.35074
F.roatmg / DIH Floating Floating F.l'cat.‘ng Floating / DIH
) ST EN T " lllustrations for
g, N\ _
Iy = N [ 7 _Eﬁ N[ o ; o /s b\\ 120.35106
I o \ fi \ |
:\Q ) ( ’-%,{\ Q,-' Nl & > [ | (o E_( Do) ) 120.35107
AN = \ I Ay \ \ N_o N i
= = -2 ot Available
N | S mﬁj ) —
Outer Dla 272 0 mm Quter Dia: 276 mm Outer Dia: 276.0 mm Ouler D:a 284 5 mm OQuter Dia: J
Height: 96.9 mm Height: 77.3 mm Height: 77.3 mm Height: 72.2 mm Height: 96.7 mm
Nom Thick: 16.2 mm Nom Thick: 21.9 mm MNom Thick: 21.9 mm Nem Thick: 21.9 mm MNom Thick: 16.
Min Thick: 14.0 mm Min Thick: 19.0 mm Min Thick: 19.0 mm Min Thick: 19.0 mm Min Thick:
Hub Reg: 85.0 mm Hub Reg: 85.0 mm Hub Req: 85.0 mm Hub Reg: 85.0 mm Hub Reg:
Bolt Size: 15.0 mm Bolt Size: 15.0 mm Bolt Size: 15.0 mm Bolt Size: 15.0 mm Bolt Size:
Balt Circle: 5 x 130 mm Bolt Circle: 5 x 130 mm Bolt Circle: 5 x 130 mm Bolt Circle: 5 x 130 mm Bolt Circle: 5 x 130 mm
Weight: 15.0 Ibs Weight: 15.5 Ibs Weight: 15.5 Ibs Weight: 16.0 Ibs Weight: 15.82 Ibs
164.4 - I - ‘W
- — ! e 0 iz
- T ' .

7a49 D950 mzramlurm
ERCEDES SPRATER
oAt 2500, 3500

7849-D950

| E] //'@

- 1255 - .!
. 1 5% [ o &
i - } I Y. [ oy 4
_ap |} . N . S
{ 1 820 r 630 | ¢ | 1
a I S e
. WP o N — i ! ir! My — L

MERCEDES G 560
M. BENZ SPRINTER

Whefe You. Turn

INDUSTRIAL BREAKE RELINERS 6125 W.

8430A-D1316

/54304513 18] wencEDES BENE 20.0, 20,0
seRINTER 2500

Sensors Available for
928,949,950,1006

Old Style

New Styl

99TH AVE. ARVADA, CO. 80003




